Homework Solutions to HW Set# > | due 9 / 1% /o3

Page ' of ¥ ) By Tomemq wilhs
On _{/ 12/ 63

‘ S RY -~
1, A+B=C S5 AN >
Cb Y whan does 2 (megurtode-of E) egon! A1+ IBL 7
o) Lhkawn &

Z wedl % A e Samc eQ\V‘c.c,+|'ay\_
e

% \c\=0
I .
@ y Bothe balls Bllow, #, sames
Ne 2 Pathe bor ball 2 5 g be lind .
e Ywo v ° o
e s Ubac:f'o s Ffor ball one_
are 2
=Wt y-= —_ZLSt
Al aftey |cecand fur &.\12
Lote: fhase. equatons %= W (¥718) = g gty

O“’é '—OcN\k €or

2> ]s i,



Homework Solutions to HW Set # 3_. due ¥ /] 28 | o3

Page % of >‘ . By

On__/ /
a)
2 ) cont wue d)
h\'

"'HNQJ V\/\&SV\.;"'U&L of 'I’L\Q_, Sepevation ;S

OQ = J?K,—x’_)z.;. (3\._. \31\1 So \\u&+ P[o& ta. Tor ¥l & GK.QJIS
d = \/(Vof" l/o(f\ o aa

TV (g Lgte )

d = \/[vo(}s\]z—q- (—2¢Us) + \sY

+ I‘VL eLeeses
<+ +lo SePeralion
Tw i lust expresion e Se& that t

, S
as time Se;l's bigger. So +le c losest ﬂ,qa% eveu ore IS n&lm

as hall 2 i +thsown.

Y could qot this withot doty any path byralizing
Pt o Y compomertt Tor Huo Ue«{od{’&of he.[( Z I8 a{waﬁs
biﬁc&e,r ‘\'WV\,*\AOZ(' of Ball 1. So Aistonc e be;howyl_

+lanr las b 4o m tmae,

5) LOe,’./e, alrwﬁd Leewne ‘Yknﬂ‘ e cnswer IS Uu&

C} Be cavve T balls  avre M'\' with quc/'% e Sam~c n‘v\."h‘r.(
C comdliens (e Vo, Xo e Seme) P ball 2 6 05 c,xew{-l,‘a Whee e

kalll was one Secomd lover, S — hall 2 lots e
grovnd second betore  ball 2.



Homework Solutions to HW Set # 3 , due 9 ) 2% /3

Page_ ~ of 8 . By

On__/ [/
&3 Tl Guswesr 1S NO . Tle (j (,avu\Pmuz‘f’ of Yl POSH‘I‘ov\ of

e 'L\L
+e balls 1S w\»\ple;f'e,\a_ cﬁ(,‘f’bf'”’l/'\df« hé o initial ve loc éty
in H g Qiechon, 8o Ha tive it tabes to hit Hha §roott

% | ‘o g o X directve].
Soes nol &E/PCAJQ, on. e t(\.(‘\’ia( udoc,bé‘

@ ) Own tle trav ;. The pastenges” sees Hao ba ll 90
e,

cﬂj@ S{l‘c&ik{' vp end. down.
O b‘ . Fixed on bl Fram ol

) Ca XA
“To see twis we put ovf

! X(ty= O
‘—O—L%_ 50 VDX: O :"')

V’)’ s yust Low fast ke thoows the el vp
- Lt
Se 6: ‘/06{' -y 3’(’

“Fe ' X
b) For an cu‘f’ st e ok SefHvey— y LoQ fs& tla 1S

on He 6:\014&&_ out side |

.
v °4
O —“»Vo bl forr X we C\)C*' X = V‘T 2
Lot
h nooon = Uyt * =g
Y 7\% & 59 N
\i +lvs o ouvtside rlaceruevT geps

Y wall's path
s |

X



Homework Solutions to HW Set # > , due %/ 2% ;o3

Page _‘f of 8 By =S
On__/ /

@ C\ T€ +Lua cac 1S c\c—ce«(broc"l-'\% Ho outside ol serven
Se,e?b +le \M” hMove In ¢ parahalﬁ buat

he wonlt see tue 306 om. Huo Cav cath ¥

The train passenger wouldl Hrow Hae hall vpward tu g
See it drif+ Yoavds Haeo hacl of Hoe_ cav  botore Ia&;\%'

Heve jost add Huree vectors

&(z <—6 + ZB blocks
< )5 L =Y blocks

&dz Loncl&s
I~ Se lal= Vie+re = J33 = Jies = 4Jz hlocks

O Hevre. Ao +ue P“Oh\e/m l‘m Z Pq,~+s
5. First fu v v + .
al "b °K °j G He instant tleo

X CeT leaves o i
M VQIWS," ! ‘
v ‘ Ll To find Yo Msy\,r"v&b C?F ’U)Lc_n_ 14' {;/,5
- . P 2 o
= 22° : vee vé"%i 2a(4x) Ax=4
:L: :60-.0« | So Y= Jzad = Jz (3-52 %) (60.0 m)
= .Om ocean,

1)

20-6 M

3
Use triq ) = YcosH = U, s0O

oa f
= 9. % = 7.71 W/S /—i



Homework Solutions to HW Set # 3 due 9 / 28/ o3

Page __of g . By,
On__/ /

@m—%' Pow b kneow  Vpy ol Vo% Se do Tue Secomdl pert
For % : X= \, T
y="v, %— '3
wlan 1+ hits Hae u,oq.p.w_
Y=-kL= v,%f__uz_‘c‘ = 3"3*2-\4.&1‘-1\:0

Here we hawve +o Solue a %u&&mﬂc.

88 ¢+ 772 W t-3%0m = o of form  GXtlxiez=o
2 s*
with ielu'}'tw\,s
t= ( 7z +“(7 NG 72 H4.9)(- 357 o) '
>e Xz bt = Hac
Q.8 —
Z &
+ = — 7.7t ¥ 27.3 S = Z,OOS
9.3

Weve T @ka Pl°\< the + 5:30\, frem T Leuuscf J: knowo

& tilae woxt v eos'\\'s‘w.

Uow -fm,— ‘*L&L; &;$+5\V\—L/€.— ‘F(‘OM +L\J—- C“{'/: +L\9-+ +L\.Q_, Ce v~ lqu

K= Ut =157 %) (zee)s = 38T wm S

—



Homework Solutions to HW Set # , due __ 9/ 28 / o>

6 of 3

Page

By

On_ / /

Here we we %_of{’ 2 welecities

\/,x'; -V| ces 6 szz Vz
X )
Vla = V, SO \/ta =0
'va = my value
T e bl velecdy V| Vs U4 e
3 A, ) ! z I'L.II':- Lis:
So V= Vp—V, e300 = —53 % e
' |
™, |
Vé: V‘ 5\\/\,9 - ’5_('\7- /\'\ e:
. . U
Tw i t)d\‘rw"‘lan when ‘abu wt e beaw K W= 40 m,
n

(7>
w:\/y‘é "-:? t= ‘Tj

/ 4

ne
-— — . _ -2

MK yt=y e o T SR (Lsse ) 2 T RTINS

* Vv 3.ur

d n

Dew Qus"' Conven=t to t+

-2 S 2e0 f+ -

x= — 8.7Ixlo Ml —m= 4o £y

Se Yoo £+  uvpsteeam



Homework Solutions to HW Set # 3 . due i /] 28 | o3

V,= 90 ok%

V, = ?

d= 30.® km
(e can Find L t= 1.5 h
From V-t = ¢ 6 = 400

L= 2725 km

To fFimd Ha (QM.SH& of € use Llow of cesives

et e 240 cn® =7 C= (72 kmT

c _ ! 22 km _ 3 k™
So C= Vh‘{' -;? V, = -_—t_— - 2.5 h 6 8 Y
@ Ve ;!'MS‘
——“‘fé‘ —— va: \/, SO W= 12 nm
©=\1°
J %) Vyy = U, cos &
\ds Vo&t—' "7,3'(:‘ 3 \/y = \/.%— a{' an.ﬂ_ 'Fof‘ GS;\/(,\/L,
‘Jﬁa )\«.w ‘ow% 'f\«l/
x= V. t .
x 3% s © MW e A,
\3—_-, O = Va&f— -'ii'bz"' 0’( V ﬁ'é) =
t= -Z—X:: Pow For x W o\)“l-+ ‘\.r ts he ot 'e,a.Sf W, ot tlie “{'l%
y  y=o

2
5‘0 x-— w = Voxt ZVOK V‘La' — A S'V\eu\e \/0

& d



Homework Solutions to HW Set # 3 due _ 1 ¢ 2% [ ©3

Page 8 of g . By

On / /

@Coﬂ": 2
‘ 2ZSmbcos b V w "~
Have w= 2MEESO M > U, :\I\—-——‘i—ﬁ = l4.5 %

3 28inbcoy b

(D) Leok ata pif of ¥ rostt i Y ¥S. X

J

A* A Pwl& of thw F“'-H«’

Navice o e.\u)o\\ts Po\\/\+3 down .

¥ o e
oQ\\Fe,Oh"'\ e L_Qﬁ
‘U W\OCA’\Q 1 Geke.\és vt X

PCJV‘POV\&ALV\M.
— frie o ball

The accelevetion 13 onlé me -V direction ot afl Hhacs.

7/‘\—'-' MJ,..."'L)&(& ;& C—MS"-QM#;Q-[. Tcl'gm/s -



